A WHAT IS SUBTRACTING?

A.1 SUBTRACTING FRUITS
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SUBTRACTION
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A.2 SUBTRACTING CUBES
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A.3 SUBTRACTING FINGERS
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A.4 SUBTRACTING CIRCLES
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B HOW TO SUBTRACT?

B.1 SUBTRACTING NUMBERS

Ex 41:
2-1=[1]

Answer:

RORCR

e 2-1=1

Ex 42:
4-2=[2]

Answer:

o 4-2=2

Ex 43:
3-21]

Answer:

ORI

e3-2=1

Ex 44:
4-13]

Answer:
[ ] %—&?:%@
e 4—-1=3

Ex 45:
5—1=4]

Answer:

vvvvw.commeunjeu.com

eH—-1=4

Ex 46:
3-1=[2]

Answer:

RN

e3-1=2

Ex 47:
5—4=1]

Answer:

eHh—-4=1

Ex 48:
4-3=1]

Answer:

RCR K

e 4—-3=1

Ex 49:
5-2=3]

Answer:

e5-2=3

Ex 50:
5-3=[2]

Answer:

e5—-3=2


www.commeunjeu.com

	Subtraction
	What is Subtracting?
	Subtracting Fruits
	Subtracting Cubes
	Subtracting Fingers
	Subtracting Circles

	How to Subtract?
	Subtracting Numbers



